BASHR (BAEBEZH)
(ZD—)
3 N 4

B % FE B B L M OEEFRINBIER)

B M, %
B B &#HlAlx | B8 - = = T H HADE E7N i3
NEE% | &S A B AxB
4| lfaumAz 1|35 BAERS B S5 1,540 100% 1,540 -1,540
4| 3||=n=E 2|2 —#)—X K4 B % 36,300 100% 36,300 -37,840
4| sllnmz 3| h—LR— BB 35 8,030 100% 8,030 -45,870
4| 15|mE ABERNR—IEILE 3,630 100% 3,630 -49.500
4| 15||=nE 5|a —Fy—H 54,795 100% 54,795 104,295
4| 15|famEAE 6| FEERESH1EL 8,620 100% 8,620 -112915
4( 22 BISEEEINA 600,000 487,085
. B SE
4| 22|zsEAE 7 fﬁ,ilj\ﬁ - AR RE L 9,600 100% 9,600 477,485
4| 22|=#%E 8T BA—AV A 1,910 100% 1,910 475575
9| RFE

4| 24llmnman 10 é’:t’T*ﬁ Bty R4 A 4,400 100% 4400 471175
4| 24|faxmEAE M|FEBHREFHI4B 3,600 100% 3,600 467,575

KW, REVTE USBY— .
4| 24||=nE 12|5 JLBS A 2,330 100% 2,330 465,245
4| 24||=n% 13|A4aF — #1058 A 24,970 100% 24,970 440,275
5| 2pE#wxE 13-2| LB~ R IR EE 29,600 100% 29,600 410,675
5| 7|=nE 14(aE—#)—XR5 A5 36,300 100% 36,300 374,375
5 7|l=meE 15(BEMERE41E 3,444 100% 3,444 370,931
5| ol@smAE 16|t A BfER4 A SR 1,650 100% 1,650 369,281

AE—Fv—IH . aE—H .
5| 14|l=%% 17 45 A 61,421 100% 61,421 307,860
5| 14|52z 18| R—LR—EEHAR S 8,030 100% 8,030 299,830

S|LR—=kuR HYTRIL .
5| 21|=#%z 18-2 B — e A 10,193 100% 10,193 289,637
5| 22|z Az 19| FEBRHRBEFHSA R 3,600 100% 3,600 286,037
5| 24|mumAn 20 é’:t’T*ﬁ Bty RS A 4,400 100% 4400 281,637

E COWWEICERET 2 EEESE. BENEMMARRVBFHEHEXHERICEHH L EE
FEFE—HIELLICLTLIES N,




BN\ (BREE=ZIE)
(zo—)
B % FE B B L M OEEFRINBIER)
B M, %
B B &#HlAlx | B8 - = = T H HADE E7N i3
NIEE®A | S A B AXB
R JREFEERMNSEFETE .
5| 27|FAEHARE 21 Chas S —FIF 1,100 100% 1,100 280,537
22| k&
6| 3|=nE 23|1aE—#)— X6 A5 36,300 100% 36,300 244,237
_— KELIZRIIDHIEDHD
= 3| B no
6| 11|EHBAE 24| R A 4,500 100% 4,500 239,737
6| 11|=#%z 25|a —Fy—2% 53,928 100% 53,928 185,809
6| 12lzmAzr 26(h A BA 5 A SRS # 1,650 100% 1,650 184,159
6| 19|[=n%z 27|/—h . HEEEEEA 4,456 100% 4,456 179,703
6| 19llEsme 28| h—LR—EmEs A4 8,030 100% 8,030 171,673
6| 19||=%z 29|A4OE—R#R1058EEA 24,970 100% 24,970 146,703
6| 24llzpmAzr 0| FERMEBEHGA D 3,600 100% 3,600 143,103
6| 24|EHBAE 31 ;”&T¥ﬁ Ft v REse A 4,400 100% 4,400 138,703
6ABRBMLEES169 .
6| 24|=3m%E 32 OO IE B 58,740 100% 58,740 79,963
7| S|=HnE B|albyF—)—RR1EH 11,748 100% 11,748 68,215
7| 3|=nE 4|aE—#)—RK7 A 36,300 100% 36,300 31,915
7| olEsEAE 35| 5Bt G BB Bkt 1,650 100% 1,650 30,265
7| 16||=nE B6[aE—Fr—% 55,635 100% 55,635 -25,370
2024 cEMMAZEHE
p; 0/ —
7| 16|z 37 EEFESS A 40,000 100% 40,000 65,370
7| 16|[ZHEBEAE BIMEREBBIESRHE1ED 9,600 100% 9,600 -74,970
A
7| 16|arman 302 *41%[‘5“'°‘2024¢r Ey 3.992 100% 3992| 78962
qu.
7| 16lzmmAzs 0|FiR AFHEBSEH 150 7,052 100% 7,052 -86,014
7| 16||=smE MN|R—LR—CEEHE AN 8,030 100% 8,030 -94.044
7| 19|[=#%E R2(R—IRY  BAEHFEA 9,448 100% 9,448 -103,492
7| 19|ExBEAE 3| FTEBRESRFH7AS 3,600 100% 3,600 -107,092
O ZOHMEBICKEH T AEEES L. ANEMMARLVBF EEES HImZICHH L -2

HEFE-HIELLOIC

LTLTzE 0y,




HEFE-HIELLOIC

LTLTzE 0y,

BNASKR (BFAEKHEZR)
(zo—)
B E B E E W EERNIEER)
B M. %
A B &Hlax | B2E - = = X HADE EIN Es
NEE% | BS A B A x B
7| 22 B#BEESENRA 600,000 492,908
7| 24|[EnmAn 44 ZE%*J—T Bz hRE A7 A 4,400 100% 4,400 488,508
8| 2lnsmz 45| R— LR—SEEET7 B 5 8,030 100% 8,030 480,478
8| 5||=EHE 46(0E—)—RAK8A R 36,300 100% 36,300 444,178
8| T|[=mE 41| BEBERE4E 3,444 100% 3,444 440,734
8| 9llErmAR 48|t A BAE 7 A S B 1,650 100% 1,650 439,084
8| 19||=#%% 49[0E—Fr—TH 75,526 100% 75,526 363,558
8| 19|[@nmAR 50 Eiﬁﬁ”’*ﬁ 2024 KM 2,000 100% 2,000 361,558
51| R&

8| 23||EHEAR 52 ;E SERTt HAEEE S A 4,400 100% 4,400 357,158
8| 23|ErmAR 53| FERRBHMB AR 3,600 100% 3,600 353,558
9| I|=EHE 54|30 —#)—XHK9AH 36,300 100% 36,300 317,258
of 4ffzumaz 55 ;\/_ﬁ%m“'“‘ﬁﬁ s 2,152 100% 2,152 315,106
of 4ff=xnz 56|A40E —FRfK 10588 A 24,970 100% 24,970 290,136
of off=xnz 57|3E—Fv—T# 58,319 100% 58,319 231,817
of oflmsme 58| h— LR—EIEEI8 B4 8,030 100% 8,030 223,787
o| 11|zm= 59 gaﬁf&ﬂgﬁt‘amg 58,740 1004  58740| 165,047
9| 11|[EnmAZ 60(Hh 5 B8 A & BEae 1,650 100% 1,650 163,397
9| 20|f=xz 61|USBAEYEEA 3,350 100% 3,350 160,047
9| 20|n#%E 62|F A B EH 7,480 100% 7,480 152,567
o| 24|[zumAz 63 :LEL%E By MO A 4,400 100% 4,400 148,167
o| 24|[=na 64| T A—AUUBEA 1,910 100% 1,910 146,257
9| 25|fEumAr 65 *}gﬁfgﬂﬁ’%%@mﬁ 5,152 100% 5,152 141,105
F COEMEICREHTAEERESE. ANEMITRBAVBEESHEI BERICEH L7




HEFE-HIELLOIC

LTLTzE 0y,

4

BN\ (BREE=ZIE)
(ZD—)
B % FE B B L M OEEFRINBIER)
B M. %
A EHlRIER | #BiE - = = T H HADE E7N i3
NIEE®A | S A B AXxXB
9| 25|ExmAE 66| FERAMEEFFOA N 3,600 100% 3,600 137,505
52 Alrs] zF*D%ﬁFHﬁ\ SIZ*UE nll}.\:ﬁ EJ%
2 iy %
10| 2llzumEAz 67|35 2,877 100% 2,877 134,628
10| 3lf=nz 68|aE—#)—ZXK10A % 36,300 100% 36,300 98,328
10| 10|[&H A 69 A BA O A SRS & 1,650 100% 1,650 96,678
10| 16|[=%2E 0|1aE—F¥—2H 56,227 100% 56,227 40,451
10| 16|lEsmE T|IR—LR—IEEEOR H 8,030 100% 8,030 32,421
R—LR—CHRRATAU91 ~
10| 16|=®E 72|54 B 22454 39,204 100% 39,204 6,783
EEREPEMERAE T 0 _
10| 16||n#mE 73| 7 e A 3,580 100% 3,580 10,363
10| 22 BISESEINA 600,000 589,637
10| 23|[=%= 74|5HE, BARVEEA 14,856 100% 14,856 574,781
10| 24|mpmaz 75 Z?T%? FtyhEEa10A 4,400 100% 4400| 570381
11| 5=z 76| —#)—X K11 A% 36,300 100% 36,300 534,081
11 EHBAE 77| FEAHRBEFH10AS 3,600 100% 3,600 530,481
aE—Fry—IH10A 9 .
11 EHKE 78| A3 F 1 BB A 64,517 100% 64,517 465,964
— X — ) e TH |
1| 11|mmz 79 ;';\ LR—UEEHI0A 8,030 100% 8030| 457934
11| 12|fgsmAz 80|H#h A EAER 10 B B EESE Kl 1,650 100% 1,650 456,284
12AESBMLEES16 )
11| 19||=®E 81 Q0O IF B 59,400 100% 59,400 396,884
SR L5, /48
11 ES LT 82 i/ JTUR YTV 8,032 100% 8,032 388,852
(=] 3 =]
1| 22fmsman B3|y 2 A AT CHIOT RIS 700 100% 700 388,152
1] 22|&H AR 84| TERIMESRH11AS 3,600 100% 3,600 384,552
11| 22lmmmrz 85 ZTT%E SR A 4,400 100% 4400| 380,152
11| 22|[gxremeE 86 &ﬁxgﬁﬁﬁm’ FILE 50,160 100% 50,160 329,992
12| 3lf=nz 87|aE—#)—XK128 5 36,300 100% 36,300 293,692
O ZOHMEBICKEH T AEEES L. ANEMMARLVBF EEES HImZICHH L -2




HEFE-HIELLOIC

LTLTzE 0y,

5

BN\ (BREE=ZIE)
(ZD—)
B % FE B B L M OEEFRINBIER)
B M. %
B B &#HlAlx | B8 - = = T H HADE E7N i3
NIEE®A | S A B AXB
i 2024F R TFEDREEF
&l B N 0
12| 12|[guEAz 88 Py 2,000 100% 2,000 291,692
12| 12|fgsmAz 89|Hh A EAER11 A B 1,650 100% 1,650 290,042
12| 13||=%e 0|a—F¥—CH11BA S 66,589 100% 66,589 223,453
12| 13wz 91| R—LR—EBEI1 B 4 8,030 100% 8,030 215,423
12| 17|lauman 92 i”tT¥ﬁ Fty a2 A 4,400 100% 4400| 211,023
- HAZE#HRE2024F12H
2 iy %
12| 20[lzxmAz 93 ~ 20254 3 B 4pBETE 11,000 100% 11,000 200,023
EFFE. FRESFE2024
12| 20[fznmEAz 94|4E108 ~2024412 B B 2,877 100% 2,877 197,146
#
12| 20[|l=%% 95|A5/—h, iRy FXFREA 4,356 100% 4,356 192,790
12| 20[fznmEAz 96| IEAMBRF 128 3,600 100% 3,600 189,190
1| 6|=%z 97|12 —#)—X K1 A S 36,300 100% 36,300 152,890
1| o||&EHEAE o8| B 12 A BB H 1,650 100% 1,650 151,240
- EREBEETHHE2024
2 iy %
1| 10lfzxmAz 99 B 1 ~ 00044512 F B 7,200 100% 7,200 144,040
1| 15|[=imE 100|7/R— LR—HEIE 55,550 100% 55,550 88,490
1| 15llm3mz 101 |FR— La_R— & Y12 § 4 8,030 100% 8,030 80,460
1| 22 EEABEEHE 600,000 680,460
- Elﬁ':%ﬁl%ﬁ 7418108
2 iy %
1| 22|lzxeAz 102 307483 F 20 F BEEE 1,530 100% 1,530 678,930
1| 22||EHEAE 1036 (X BMEFH1BA S 3,600 100% 3,600 675,330
1| 24|leumArz 104 ﬁj”tﬁ%ﬁ Bty A 4,800 100% 4,800 670,530
2| 3|=nE 1052 —#)—X K2/ % 36,300 100% 36,300 634,230
2| s|amz 106|385 £ 3R 129 RIY 150004 64,900 100% 64,900 569,330
s 0y FEDR2024F1F5E~12 .
2| TEuEAE 107 B2+ 5 2 [ 43 B o 7,700 100% 7,700 561,630
2| 13|E®mz 108| Rh—LR—IEEE1 B 5 8,030 100% 8,030 553,600
AE—Fv—IH . aE—H 0
2| 13|l=%z 109 4.0 5 A 103,503 100% 103,503 450,097
O ZOHMEBICKEH T AEEES L. ANEMMARLVBF EEES HImZICHH L -2




FEFE—HIELLICLTLIES N,

6

BN\ (BREE=ZIE)
(ZD—)
3 N A
B % FE B B L M OEEFRINBIER)
B M. %
B B &#HlAlx | B8 - = = T H HADE E7N i3
NIEE®A | S A B AXxXB
2| 14|auBEAE 110|#h 5 BA B0 A S s # 1,650 100% 1,650 448,447
Eﬁ-E " E éﬁ":
2| 21|lapmEAE 111 ;;t"**ﬁ Bty EaEs2A 4,800 100% 4,300 443,647
2| 21|z 12| &IREREHFBHKE2RAS 162,740 90% 146,466 297,181
R—ILRVEZR,. T X
2| 26|l=%% K Pty 4,996 100% 4,996 292,185
3| 3=z 114|2E—#)—XK3AH 36,300 100% 36,300 255,885
3| 14|E®mz 15| h—LR—IEEE 285 8,030 100% 8,030 247,855
- EHFE. FESEES
3| 14|[gumAs 116 H3ME S 2,877 100% 2,877 244,978
3| 14llzumAzr M7|FEBRBEFRH28 5 3,600 100% 3,600 241,378
3| 17|[EguBAs 118|REKIBBEBFEH2ES 6,110 100% 6,110 235,268
3| 17|[=%z 119|aE—Fv—U %289 58,146 100% 58,146 177,122
S A0 A g L) =
3| 18|mmn 120 ;ﬁ;*ﬁniﬂ?ﬁ“ JE3000 129,800 100%| 129,800 47.322
A= =
3| 21|z 121 ;’mgm%ﬁ%ﬁﬁ%cﬁ 52,580 90% 47,322 0
= = 2,400,000 2,400,000 0
O COHEMEICKEH T AEEES L. ANENMTHERLAVBEESEST HInZE ICFEE L /-2




